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1. A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease
(C) 32% decrease (D) No change

1. G @51 TRATF 24U 40% I 91 2 IF O] Pwe 40% P I 277 | %[Ok /R[S
ARYCBE o G (20w

A) 16% I (B) 16% 3P
(C) 32% 3~ (D) S#Raee

1. @3 MANF 40% I FA 37 IR *[IGICe 40% ZPT ¥4 27 | R fFfdcd wamfog b

e 2e
(A) 16% i (B) 16% 3P s
(C) 32% 2P (D) SIRaf%S

1. mm%ﬂﬂ@ﬁﬂﬂ%%a@mwmmm%wa@lﬁ@ﬁméw

3T HIAEHTT STt :
(A) 16% sral , ('B).16%@=r5|ﬁ
(C) 32% | Sal S (D) S Eemr

1.@Wﬁ%%‘oﬁ‘{%ﬂ%ﬂé&ﬁ{w&aﬁ40%&33‘1%@@1&*{;@%%%
(A) 16% i gfg ‘ (B) 16% 3t HHt
(C) 32% 1 FH w (D) @I FeaTE T

2. If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years
(C) 50 years (D) 45 years

SPACE FOR ROUGH WORK
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2. I A, B SF CF 91T I 22 I%F HF B IF C J ¢ I 25 =9, (98 AfSq{ 7/ 9 %74
Pree AT I 27

(A) 25 929 (B) 35 9=
(C) 50 q=F (D) 45 3=

2. M A, B 8 C-97 91T TP 22 27 GR B 8 C-&F 9T 7P 25 I27 2, O 94 (AF 9 I
7 A-99 T F© 3CF, [l T |
(A) 25 = (B) 35 3=

(C) 50 <= (D) 45 =g

2. 9T A, Bwﬁcﬁn@é@mzzaﬁ@RaﬁBaﬂﬁcﬁn@éﬁmzsaﬁ@w 9 FER =

AT SEieT SEET SFTE?
(A) 25 Fr (B) 35 FEIT
(C) 50 FER (D) 45 Eﬁ'{iﬁ'{
2. AR A, BaﬁxcaﬁafraﬁaqqzzaﬁamBaﬁtceﬁaﬁwawgzsaﬁ% ql 3" W 9 U 918
A 3T J1d shifS | 0
(A) 25 ¥  (B) 35ad
(C) 50 =¥ A (D) 45 =

3. The smallest among.\’F, \F, \F and \F is
2°V3 \4 3
1 1
1 2
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4 Iffzgzg, then Xryrz is equal to
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) S
X Yy z xX+y+z s
4, I = =2 =2
zﬁﬁs 2 = 7 (08— AW 2T
(A) 2 (B) 3
(C) 4 (D) 5
4. 3 X =Y -2 wmm XTYTZ qg o
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) %S
4. IR E-Y_Z gem XY Z o gomamig
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
4. A X_Y_Z {XAYE a2
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) S
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5. Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is

(A) 18 (B) 20

(C) 22 (D) 24

5. Bl k4T 2 : 3 TINOS HCR HF R oALT. S FAALB.-F Z[TFA 96. IR GO oI

€263
(A) 18 (B) 20
(C) 22 (D) 24

5. 6 FRAGM TS 2 1 3 G OICHT 91A. Q. G 731,97 QT 96. W qoe (97T 21
(A) 18 (B) 20

(C) 22 (D) .24

5. AFA fomm ge@mE 2 SWW%@I‘[W aﬁgaﬂwﬁwﬁm% ERECIE]

piEEIE R EnICHIERIRSICIR]
A) 18 A (B) 20
(C) 22 . (D) 24

5. ﬁé@ﬁz:sﬁmééﬁmwwmﬁmwmﬁmw%%lﬁ

13T 1 A 2
(A) 18 (B) 20
(C) 22 (D) 24

SPACE FOR ROUGH WORK
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6. The value of %/87 is
(A) 1 B) 3
(C) 2 (D) 4

6. @ﬂmi’a

A) 1 B) 3

() 2 (D) 4
6. J82-qq W

A) 1 (B) 3

(C) 2 (D) 4
6. J82 f mn

(a) 1 (B) 3"

(C) 2 (D)4 ;
6. 82 w1 7w 3

A) 1 e (B) 3

() 2 9 (D) 4

7. A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55 (B) 0
(C) ¥270 (D) ¥45

SPACE FOR ROUGH WORK
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7. @I G FPR ARV g7 [ FEce aqzs ome @3 g y@el ARweE =0eel, 52
2AfSDICHIca 2feqq 1 w89 2'cefe & 120 Ffb MY | 9o Teee @2 dfevie 105 R
FCE IE (FICA S [T TP 2 3 T2 b1 flcq | 3 W2 WS [eREed Jo IR

(A) ¥55 (B) ¥0
(C) ¥270 (D) ¥45

7. &35 W8 »fFe o1 @ e 2w RS a0 O e[ e Bsd 2@ a7 8 ofe
R €120 (G 1€T || & e T 105 REEe s@ @32 @i ofeie «fque
RfSce 1 Fcg 3 W @ '@ 1 3 WIOE (I Ol (G IR 307

(A) 55 (B) €0
(C) ¥270 (D) ¥45
7. G BT GEAAEE U SMYHAl IME SEHEE A TS R SR AEAE BE Shwe

HHAAT € 120 G I A ARG | 98 GIST o BATMLEHIE © 105 SH ST TR Sell 3w
T BTl o 3 Tt 7 3 e | @ 3F s forerf 3 e s

(A) T55 B) %0
(C) ¥270 O ¥ 45

7. @ﬁﬁﬁéﬂﬁﬂé@ﬁf&ﬁrﬁﬁuﬁﬁ%mﬁaﬁém, AfeR 388 I ST W
& 120 i Ul F1e <t It 2| UH, AAGE 5@ w0 4 € 105 w1 Faw war g 3R T foret erfafer
Tfer w1 e R 3 wE 9 SIRNTEAT 2| 3 HEH % 37d H IHeh! G 3 BRft

(A) €55 N\ (B) €0
(C) €270 \ N (D) ¥45

8. The count of prime numbers between 80 and 100 is
(A) 2 (B) 5
€ 3 (D) 4

SPACE FOR ROUGH WORK
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8. 80 ¥ 100 J V&r® S[€Fe (Nferd A7 (361 2

A) 2
€ 3

(B) 5
(D) 4

8. 80 Y32 100-9F W TRFe (qfers A2 T 2

(A) 2
(€) 3

(B) 5
(D) 4

8. 80 W 100 T TSTE A-=® Ter HfmT 87

(A) 2
(€) 3

(B) S
(D) 4

8. 80 31 100 & o= 19" g3t i fmd) 2

(A) 2
C) 3

(B) 5
(D) 4%

9. Find the value of [(107 +102)+ (103 #1052)]+ 10°5.

(A) 100
(C) 2

(B) 200
(D) 1

9. [(107 +102)+ (103 = 1072 [#105 = = ol 7 |

(A) 100
(C) 2

(B) 200
(D) 1

9. [(107 +102)+ (102 +1072)]+ 10°-4q Tre7 foyefey Fepey |

(A) 100
(C) 2

(B) 200
(D) 1

SLRC—2024/P-111/ 1-E
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9. [107 +10%)+ (10% +1072)]+ 10 f 7T fagT|
(A) 100 (B) 200
(€) 2 (D) 1
9. [(107 +10%)+ (102 +1072)]+ 10° = AW 1 ST

(A) 100 (B) 200
(C) 2 (D) 1

10. If A : B=3, then 144A : 36B is
(A) 4 (B) 12
(C) 3 (D) 16

10. AW A : B =3, (58 144A : 36B I I+ 23
(A) 4 (B) 12
€ 3 (D) 16,

10. 3% A : B =3, 94 144A : 36B-3 I 2@
(A) 4 B 12
(©) 3 I\ (D) 16

10. IR A : B =3, 351 144A £ 368 1 Al
(A) 4 - (B) 12
() 3 ’ (D) 16

10. IC A : B=3, A1 144A : 36B ®# A &
(A) 4 (B) 12
(©) 3 (D) 16

SPACE FOR ROUGH WORK
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11. The fraction equivalent of the recurring number 2-19 is
271 217
A) -5 B) -5
99 99
219 291
C) —~— (D) ==
90 90
11. CPeesfos R0 219 I Fge) B2 (2R
271 217
(A) —= (B) =—
99 99
219 291
C) —— (D) ==
90 90
11. SIS RYJ 219 -4 S@ely B2 251
271 217
A) —o (B) =——
99 99
219 291
€) — (D) =
90 90
11. 219 FEURAE TEARFAE SRR T SramE e
271 ™17
A) -5 (B} ——
99 99
219 e 291
C) —~ © (D) -+
90 90
11. 3ATed ST 219 1 @A a2
271 ' 217
A) -5 B) -5
99 99
219 291
(C) —~— (D) ==
90 90
12. The largest of 26, 35, 4% and 5° is
(A) 2° (B) 3%
(C) 4% (D) 53

SPACE FOR ROUGH WORK
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12. 2°, 3°, 4% 5% 53 WWACFHR FAEH AT TR 279
(A) 2° (B) 3°
(C) 4% (D) 5°
12. 2°, 3°, 4% @k 53-«7 Woxy JTEAD 27
(A) 2° (B) 3°
(C) 4% (D) 53
12. 2°, 3°, 4% s 53 f swa W
(A) 2° (B) 3°
(C) 4% (D) 53
12. 2° 35 4% 353 § we@ W
(4) 2° (B) 3°
(C) 44 (D) 53
13. For a bicycle rider, it is seen that for every two cemplete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicyele.in 10 complete pedaling is
(A) Tm ( (B) 14n
(C) 21m \ » (D) 28n
13. g8 BIRCFE AR CFAO (e @ (9€ (leeere o1 T oS [ifNeE DRI
SSHFICEICE e 3“1 AT MM ORCF 514 P 70 6. . 2, (O3 (Ices ™ 1060
5“1 HRCFeTCe Ry el (FoR «vee) ey R 2
(A) 7m X (B) 14n
(C) 21n 3 (D) 28m
13. 9% STRTe AR (Fe@ 7l T @ q6 7BIees e ®eE ARCRCE AN b foefn

R ool =7 | AW AREER SR AP 70 G, WL =, ©@ 106 T wiiceca Alceoa
wfoa 41 7ag ([Woieq) 291

(A) 7m (B) 14n

(C) 21n (D) 28n

SPACE FOR ROUGH WORK
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13. O TTEehel AT Jofe, for deawt @a 2 Or fhidsan, fmfa amemn w= 3 arfifeet) gfs
TTEehel AT T@ET 70 9. . SN, ofee Udw@! @ 10 9R fhideen, wmgehen 9@ MeH
(forera) @ReATTH?

(A) Tn (B) 14n
(C) 21n (D) 28n

13. TF HEfohel TaR o I I8 3@ 7 foF yede a1 qui 9efer o o |msferear &1 swren ufean 3 qoi
HE ST 7 | Afe wrsfhd @ ufed i B 70 "o wio 7, A1 10 Ui Yefom # wigfehd g1 99 it
™ (e H) 2
(A) 7m (B) 14n
(C) 21n (D) 28mn

14. The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2+/2 cm. The area of the tr1angle is
(A) 2 sq. cm (B) 24/2"sq. cm
(C) 4 sq. cm (D) 442 sg. cm

14. @51 A faged R o TweR (7 T SIPPORCE A%d oy 242 (6. WL | faqgechE
CFaFs] ’ )

A) 2 3f . f. e, (B) 242 35 5. .
(C) 4 3sf ¢v. f. oL (D) 4+/2 3sf ¢5. 3.

14. ﬂﬁwﬁw—ﬁemmﬁwm\ﬂﬂWW2fm .1 fagsita
CRaFe] 2e7 N
(A) 23of O [/ (B) 2+/2 3sf 1. 3.

(C) 4 35f &1, . (D) 4+/2 3sf 1. fil.
14. T TS FAETEAME T AW SEEE Mo @ W OH 310 smerfui asemE

242 4. fu. | 9 smEfEemi s
(A) 2=t @, fa. (B) 2+2 =t @, fa.
(C) 4 =t @, fa. (D) 4+/2 =i @, .

SPACE FOR ROUGH WORK
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14.

T IV TS T SR 3R 3IEeh! Sarg aRET § SRreR § 3R ARl oS A araTg 24/2 Wo Hio
HBEES IR EEIc R

(A) 2 =t Fo o (B) 2+/2 & Fo o
(C) 4 =t Fo o (D) 4+/2 =t Fo o

15.

15.

15.

15.

15.

In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42

(C) 49 (D) 56

19 7@ S 9 G R (P 9B 7P RM© 4] FHCACIN I TR Sreqiz.
2 | TP TRAPTRS AL 751 TR KA 1 2 | G 751 I 9 (9 (202

(A) 35 (B) 42

(C) 49 (D) 56

1 fics e 297 SRE RN AR (A0 78 (@ KA AT el 27 | FFBfer (e
22 715 2y fCam 91 = 1 @@ 71 A aRrerEE

(A) 35 ~'(B).42

(C) 49 U D) s6

1 S e SR el e, T S SRR SRR S| SRR
fermifa w9 7 eRfSmERE! GEER @ | S 29 7 SHSEERE e S

(A) 35 e (B) 42

(C) 49 o (D) 56

1 ¥ € B el AR G el fl q@en H, 9 99 g A gel & Sl §| 39§ ¥ yUw
7 Gl W fomm s | 59 7 et & a9 @

(A) 35 (B) 42

(C) 49 (D) 56

SPACE FOR ROUGH WORK
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16.

16.

16.

16.

16.

Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4A-B)
©) A4B (D) 4AB

Yol TR A S[F BT @9 99f FAr@ C (o1 93 | #9981 Bi7Te AF 7| B [l 9 3sf
IS D (A1 A | C~DF A SF B S 2 Fce AFRIMCH 23

(A) AA+B) (B) 4(A-B)
©) f:rB (D) 4AB

76 R A 8 B (F AN @9l T W G 79 I¢ C A IR | AT 417l A (2CF B [l
T T GR TS 5 FACST D ANST TR | A € B-«F ARG AIFN, C - D (& A e 2@

(A) A(A+ B) (B) 4(A™ B)
() A4B (D) .4AB

A AR B ARl TS AR SAEE_fRgTH C qia@ | S wifa B @ A e
TRg A T At & faga ™ D AFe@iieCs D @1 A 3R B [eTeTa SiRHTse

(A) A(A+B) £ (B) 4(A-B)
(C) Af % (D) 4AB

C U &3 & o0 uded a1 913t A 3T B bl SISl Sl @ qT 39ehT o1 TohaT STl 2 | 37Tl =R/0
H, AN ¥ B #I GRS & 3R D UTH & % o0 39 GRom a1 9t fR ST 21 9Rems ¢ - D
Fl A 3 B % &9 It i TN

(A) A(A+B) (B) 4(A-B)
() Af (D) 4AB

SPACE FOR ROUGH WORK
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17.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3
€ 5 (D) 2
17. PN [ FRACT 1250% 7[99 fEeat @bl #ofqof A2 oI 1 2
(A) 4 (B) 3
€ 5 (D) 2
17. el 40 A A 1250 ¢F 99 Fest 2 95 F; A I/ G Fef wee |
(A) 4 (B) 3
€ S (D) 2
17. 1250 @ 371g 1 WA 9 GATHA STSETST SHSTeAmH |
(A) 4 (B) 3
(€ S (D) 2
17. 98 =Iq9 91 F1a hifee, TEd 1250 1 T Ul it g9 3 fore 1qon ferern sman =g |
A) 4 (BL G
(C) 5 (D) 2
18. When the numerator of a fraction is multiplied by 4 and the denominator by 9,

18.

the fraction reverses. The fraction is

(A) (B)

©) (D)

Mo g p
NWw WIN

GBT SN T 4 (T S 295 9 (T 7F FICH ©AICON AMSCI (o110 | S2RACHI (=R

(A) (B)

(€) (D)

NSNS BING U RN
Nw WIN

SPACE FOR ROUGH WORK
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18.

18.

18.

G5 AR FRCE 4 FEI G TACF 9 T B FqT 206 A1 Teen T | s’ =+

(A) (B)

NSNS IO U N
N[W Wl

©) (D)

JecAT WA AEEEREIE BFE 4 S gEST A0 Sa@ 9 5, o araeaereT oot fifdst| o
ELCIEICIEH 1]

(A) (B)

Nl | b

©) (D)

NIWw WiN

e fore 375 o 3791 1 4 | 3K F N 9 TN o ST 7, at o 3oie Sian &1 9 e

4 2
(A) 3 (B) 3
5 3
(€ 2 (D) By

19.

19.

19.

At what percentage of simple interest does am anmfount of money double in 12 years?

(A) 9lo, (B)’sl%
2 /' 2
Q) 81u L D) 919
(€) (D)
3 3

o T GG A 12 T FH7 51 2T 7 T 23 e 24 o 2

A) 9X% e (B) 8=%
2 2

© 81% D) 9X%
3 3

T IO TS MO 2 Jre 12 = g 27 2

A) 92% (B) 8<%
2 2
o) 8l D) 9X%
(€) (D)
3 3

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-E 21 [ P.T.O.



19. THY @l SENE 98 §R TRel G2 gl 12 SERIE o STEE BT S
10 10
(A) 95/0 (B) 82/0
10 lO
(C) 8§A> (D) 93/0
19. HIERY 1S o fohae TfoRtd W i gafen 12 auf & g & Saft?
1, 1,
(A) 95/0 (B) 82/0
10 lO
(C) 85 % (D) 95 %
20. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 (B) 2:9
C) 1:9 (D) 6:9
20. 751 IS PTG ST 1 : 3. I€ GO (FaFed o923
A) 1:6 (B2 9
(C) 1:9 D) 6:9
20. 7 0 APTCH ST 1 : 3. ST CRATER WS 77
A) 1:6 ~ B) 2:9
(C) 1:9 ° (D) 6:9
20. TG THA TEEHR TSR] 1':3.1%@@%15[@3@1?11
A) 1:6 o (B) 2:9
(C) 1:9 (D) 6:9
20. < Fai I Brsostt 1 g 1 : 3 81 36 Sl 1 A 2
A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9

SPACE FOR ROUGH WORK
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21. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600
21. 1009 100% J 97 200 T 200% 9] FECE FeFe 29
(A) 300 (B) 400
(C) 500 (D) 600
21. 100-99 100%-¢3 A 200-99 200% @5l FACE FoRFe 307
(A) 300 (B) 400
(C) 500 (D) 600
21. 10014 100% 30 2001 200% @ S=TTsAT AT
(A) 300 (B) 400
(C) 500 (D) 600
21. 200 % 200% ¥ 100 & 100% e~ T GRomm I19 2em
(A) 300 (B) ‘400
(C) 500 (D). 600
22. If a+b=8, b+c=20 and a+c="18, then the value of a®+hb? is

22.

22.

(A) 34 ; (B) 43
(C) 46 . (D) 64

M a+ b =8, b+c =20 IF a+c =18, (B a’+ b2 I I 2’7
(A) 34 (B) 43
(C) 46 (D) 64

M a+b =8, b+c=20 93 a+c =18 37 O@ a2 + b2-«q W 3¢
(A) 34 (B) 43
(C) 46 (D) 64

SPACE FOR ROUGH WORK
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22. Y a+b=8, b+c=20 3R a+c=18, 3= a? + b2 T AMT
(A) 34 (B) 43
(C) 46 (D) 64

22. 9 a+b=8, b+c=203 a+c=18, @ a+ b2 H A 2
(A) 34 (B) 43
(C) 46 (D) 64

23. If 2* =32, then the value of x is
(A) 4 B) 5
(C) 6 (D) 7
23. 7w 2% =32, (OB x T I 2T
(A) 4 B) 5
(C) 6 (D) 7
23. IM 2% =32 2, O@ x-9F T T&
(A) 4 (B) S,
(C) 6
23. {fe 2% =32, 3tsatt x T AW

A) 4 (B) 5

(C) 6 JY (D) 7
23. aﬁ2x=32,a%xawrm%.,"'

A) 4 - (B) 5

(C) 6 ’ (D) 7

24. The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-E 24



24.

24.

24.

24.

551 G SR IR 91F 95 (oIl 91’3 | FRUICHROF SGBSCP TS FRICHI (22
A) 17 (B) 21
(C) 23 (D) 19

5 FF YA RAE @9 95 #A1SHN (ofet | TR B 7oy IZewb 7o

(A) 17 (B) 21
(C) 23 (D) 19
HINS A 5 9 T SHSHIGRM ISTETEaT 95, SafRgs e TSR e
(A) 17 (B) 21
(C) 23 (D) 19

5 SHATTA Toog et o1 I 95 UM ST 2 | Hed ol W ©
A) 17 (B) 21
(C) 23 (D) 19

25.

25.

25.

25.

25.

If the decimal number 34p5 is divisible by 9, then ‘the "value of p is
(A) 8 ® 7

(C) 4 (D) <6

T T A 34p5 (BT 9 (3 eI 2, (% pd T 27

(A) 8 B 7

C) 4 X ~ (D) 6

Tt IS R4 34p5 B 9 7= oren, 28, ©=E p-93 TW 3@

(A) 8 ( B) 7
(C) 4 G ™ (D) 6
Sife qwfee SR 34p5 W19 S TSR, e pf A
(A) 8 (B) 7
(©) 4 (D) 6

Ife TIHeTd T 34p5, 9 W fawsg &, @ pF OM 2
(A) 8 (B) 7
(C) 4 (D) 6

SPACE FOR ROUGH WORK
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26. The maximum area of the circle that can be drawn within a square of side 4 cm is

(A) 412 cm? (B) 4n cm?
T 2 TC2 2

(C) —cm (D) —cm
4 4

26. 4 (5. . AT I9fCFq WOR fooqe SF 7}l J€ GOR AEH CFIF 237

(A) 4n? <sf . . (B) 4m 35f (5. .

(©) %zm‘ . . o) ™ <of (5. fil.
4

26. 4 C1. fi. qfME 9 9Cwas foo Siecs =1 goed A Wm

(A) 4n? 3of @1 . (B) 4m-9ef m fil.

2
©) %zm‘ &L . (D)<~ 3o &1, .
& '4

26. 4 3. . s Wi wif fre SHLEREEETN SR e
(A) 4n2 = @ fi. (B) 4n =@, fir.

© Tt oL D) ’faﬁa.ﬁq.

26. 4 o Ho TR 3 TH A F i W T T A T F A SH 3
(A) 472 =1 Ho Mo (B) 4m 91 Fo Hio

() %aﬁ@o o (D) ’faﬁao o

SPACE FOR ROUGH WORK
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27.

27.

27.

27.

27.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday
(C) Sunday (D) Monday

W o1& IR 2, (oc 92 g I frelchl 2°7
(A) ™ (B) W&A_
(C) A= (D) CTR™

Ifn 1% FREE 27, OrEes 92 e #Eq el 2@

A) R (B) W=
(C) wf@E= (D) CTRER
Sfe ferfa arn fomm, ewen 92 wmf 3 W 9= e
(A) wHem (B) e
(C) ersr (D) |HER
Ife 37 oA B, dt 92 fedi & =g =1 fem g

(A) wtem (B) IR
(C) Tam o . (D) TwER

28.

28.

When three times of a given fiumber is subtracted from the square of the number,
the result is the number#itself. The number is

(A) 4 - (B) 2

(€ -2 (D) -4

I G FRYE 9T 7[1 FRLICO[A ol @39 [esl IR 279 R FRACOIER Nl R |
SO TR

(A) 4 (B) 2

(€ -2 (D) -4

SPACE FOR ROUGH WORK
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28.

28.

28.

G3To Ze IR om0 YA F9f (AT [l 1 2ee AR BETE 2[R 7_4ibe e
T | AR 2

(A) 4 (B) 2

(C) -2 (D) -4

Jfe A AR SHHEE o aFsTermemE! 3@ A, 3Tl a1 o sHfsmEE s fo=r
STTeIT

(A) 4 (B) 2

(C) -2 (D) -4

Sa foret T w1 9 T 3@ wen & @ "er feEn S 2, d ufom 9@ e wdt 21 9w
= ?

(A) 4 (B) 2

(C) -2 (D) -4

29.

29.

29.

29.

29.

In Roman numeral, XCI represents the decimal number

(A) 41 (B) 24
(C) 91 (D) 1M
I 71451 XCI @ I Ifas ALICHT (32 \
(a) 41 (B 21
(C) 91 o . (D) 111
AR 1471 XCI =1 fofese a1 wifag SRfs =1

(A) 41 : (B) 21
(C) 91 . AN (D) 111
W graed XCI [ gwftes srafsmmn s

(A) 41 ’ (B) 21
(C) 91 (D) 111
o 31ht § XCI T8 gemers g o1 afdiiea s g, 98 @
(A) 41 (B) 21
(C) 91 (D) 111

SPACE FOR ROUGH WORK
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30.

30.

30.

30.

30.

A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m

(C) 11 m (D) 12 m

13 . i ©9el T ey (rdle @9 (R [ SCR S B9 €0[q JqCol 5 . Twere
IR | (FAELER AR S G4 9] J99 A6 ]S e 799 (20T

A) 9 . (B) 5 fi.
(C) 11 . (D) 12 f.

13 fi. trcdi @b W3 95 THTY (ReICAN A GNTSI ECEHASIR. (1 OF TCER 218 5 .
THOR SRIFS | (RS TP 43R TR0 oA AT T AR 79 2

A) 9. (B) 5.

(C) 11 . (D) 12°F.

13 fir, e Siee TR o TS 5 . SergE SR SR Sa | A e
TES St Merfif Tfefm ey 97

(a) o9 fa. . (B) 5 fu.

(C) 11 f. N oy (D) 12 .
13rﬁoamﬁ@aﬁaﬁ@’3wfmaaﬂm@ﬁ§§%,mwmm5n%aﬁ°m1§q1%|aﬁan
% freet iR or gl & frect R & g i afesr g 2

(A) 9 Hio (B) 5 Hio

(C) 11 Hlo (D) 12 #io

SPACE FOR ROUGH WORK
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31. The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is
A) 1 (B) -1
(C) 2 (D) 3
31. 2, -1, 3, 1, -2, 5, 6 IRIGFICBA TG (20T
(A) 1 B) -1
(C) 2 (D) 3
31. YN Fef&¥ 2, - 1, 3, 1, =2, 5, 6 -4 TGN 27
(A) 1 B) -1
(C€) 2 (D) 3
31. s wIk 2, — 1, 3, 1, — 2, 5, 67 T=w@mn
(A) 1 B)«-1
©) 2 Dy 3
31. Tl % IgHEA 2, - 1, 3, 1, — 2, 5,\6 &l HIAF @
A 1 A B) -1
(C) 2 RN (D) 3
32. A person moves along a path such that he is always away from a given point by

7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is

(A) 22 m (B) 44 m

(C) 122 m (D) 144 m

SPACE FOR ROUGH WORK
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32.

32.

32.

32.

g qieee 9 owe v o[ w7 [ g @R R 99 W o ofe e | ey T
GCTTed e IR (€ 7717 AR ST FT© ToIS 209 | G2 AR (D€ Tfoad F1 79
RIEHRI CRE

(a) 22 f. (B) 44 fx.
(C) 122 fi. (D) 144 .

GFE e ¥ G ¥ 4eq b @ O T @i [HE Ky e 7 W yag qowm ey |
g9l o A1 O ORI O e fRee e | @@ e (seed ety wifede 41

R 79 25
(A) 22 f. (B) 44 fi.
(C) 122 f. (D) 144 fi.

A AR 2 e SEER aEE oSt S e G g e 7 R e o
T O JERAEE IAE R e SEESE SRS Gl NS TERET SE 3 e
TSI ? \

(a) 22 fi. (B) (44"
(C) 122 fu. (D‘). 144 fa.

qmwﬁwwmwww%%ﬂ%’%ﬁi@%ﬁﬁm7ﬁo§1€?ﬂ%l@%{ﬂ?ﬁ
% 916 98 J: 3O TREE forg W 9gE ST §1 39 §HT % QR S g a9 ohl TR STgETa

U
(A) 22 o AN (B) 44 o
(C) 122 Hlo . (D) 144 Hlo

33.

A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

SPACE FOR ROUGH WORK
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33.

33.

33.

33.

1 99 . SR 99 B[ 2[1 1 ¥ (5. . SRos PR AF T TAE FIo Sfereq] 27 |
o1 I FelFq FR (2R

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 9 . SRS GF I SR T SFICA FOod 1 ¥ @1 [, SReee e [oe
91 2 | 1Y FY GRS AR 2

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 =9 . USWTE TAT T8 % 1 89 4. . a9 e R e g s, e
TreTfE =es STiEmTH?

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

| 59 o TP A6 T F A 1 59 Fo Ho ARIH TRASIL T § THF &9 & HET I 2| 90
T B AT hI G 2

(A) 10000 (B) 1100000

(C) 1000 (D)* 1000000

34.

34.

34.

The smallest positive integer thiat,is” simultaneously divisible by 6, 8 and 12 is
(A) 24 B) 18
(©) 48 Al (D) 36

6, 8 T[F 12 (J QUPIRCS [STE TeloH LT B[4 AL =7
(A) 24 (B) 18
(C) 48 (D) 36

TSN ISP 7R AN G2 M 6, 8GR 12 7HI [eren, @I 23
(A) 24 (B) 18
(C) 48 (D) 36

SPACE FOR ROUGH WORK
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34. Jufrgs gafem ameeTs T AR SR 6, 8 AR 12 S TS, S Sat
(A) 24 (B) 18
(C) 48 (D) 36
34. TSY BN GATCHS qUTieh, S Th @19 6, 8 3R 12 ¥ fawrsa g, 8
(A) 24 (B) 18
(C) 48 (D) 36
35. The difference between the smallest 3-digit even natural number and the largest

35.

35.

35.

35.

2-digit even natural number is

(A) 1 (B) 2

(C) 3 (D) 4 :

3-TFTE WG 3 JA TP | WA 2-TLFTS A, 4l FSIP R 12 (208
(A) 1 ® A

©) 3 (D)4

3-SR ST FORF I TR R 2-CE] RS TR o TRAT T 12

(A) 1 e (B) 2

© 3 i (D) 4

Al 3-gHfsmrT=T faform s savm o @i 2-amfsmen @it ss'u smfsmf Tewe
T ®RETT oy

(A) 1 N (B) 2
€ 3 (D) 4
3 k! hI T B TThfcrh T TEAT 3R 2 37kt I T8 T TThfash TH G % o= H AR
A) 1 (B) 2
€ 3 (D) 4

SPACE FOR ROUGH WORK
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36. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

37. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice J

38. What is the synonym of ‘furious’

(A) Laughter

(B) Witch
(C) Impure '
(D) Angry 3

39. Identify the incorrectly ‘éﬁ.elt word.

(A) Square Ly
(B) Parpendicular

(C) Diagonal

(D) Triangle

40. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter
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41. What is meant by ‘to get the green signal’?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

42. Fill in the blank :
Lokesh can jump very .
(A) high
(B) higher
(C) highest
(D) tall &

43. What is the collective noun for fish’?

(A) Swarm

(B) Pack .
(C) School ' N/
(D) Herd N

44. Fill in the correct conju;a;c;cions in the following :
Reshmam_.’ Padma knew the directions, and now they are lost.
(A) Either, or \
(B) Both, and
(C) Not only, but also
(D) Neither, nor

oy

45. Which of the following punctuation marks is called ‘apostrophe’?
@A) ()

(B) (/)

€ ()

(D) ()
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46. Which of the following means similar to ‘elevated’ ?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

47. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake

48. Which of the following sentences is correct?
(A) She had not coming to the wedding. )
(B) She is not come to the wedding. \
(C) She did not coming to the wedding. ’
(D) She is not coming to the Wedding...':”,

<

49. Choose the correct option":

We __ the Natipriél Anthem every morning at school.
(A) sanged L,
(B) sing
(C) sings
(D) singed

50. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
C) I
(D) You
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51. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

52. Identify the correctly spelt word.
(A) Mongrel
(B) Marval
(C) Martal
(D) Middel

53. Identify the preposition in the following sentence 3
The cat was sleeping under the cot.

(A) Sleeping

(B) Under -
(C) Cot N\
(D) Was SR

54. Identify the incorrect set. Y
(A) Bad : Worse Wofst )
(B) Poor : Pooresh P Morer
(C) Rich : Richer : Richest

(D) Good : Better : Best

55. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran
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56. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

57. What would be the antonym of ‘friend’?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy o

A\

58. From the list below, identify the synonym of ljamei'l't”.
(A) Sad
(B) Mourn
(C) Copied & \ &
(D) Molecule NG

<

59. Which word is incorrectl& spelt?
(A) Basically at 2
(B) Essentially
(C) Primarily
(D) Varbally

60. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy
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61. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

62. Fill in the blank :

Tuhin ran than Zubin to win the race.

(A) fast

(B) faster
(C) fastest
(D) fasting

63. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack L

64. Which of the following' f)f:mctuation marks is called ‘hyphen’?

A O N
(B) (/)
€ ()
(D) ()

65. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty

SLRC-2024/P-111/ 1-E 39

[ P.T.O.



66. Which of the following means ‘to get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

67. Identify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) T went to go home now.

68. Choose the correct option : y
Is your brother __ to the gym?
(A) gone
(B) going
(C) go
(D) went ¥ o

-4,

69. Which pronoun is used‘fc")r' ‘hon—living thing’ ?
@) 1
(B) We '
(C) Us
(D) It

70. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten
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71. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
71. RN TEEHT CRACH! Areaie & =ifee 2

(A) BIRTE (B) =z

(C) %[ (D) sresiie
71. S AECEH R AGA (@D 2w 2

(A) DarRwS (B) @26

(C) T (D) sTwens
71. ATEH TSN = TSIUmE = SgmE?

(A) =g (B) ST

(C) T (D) T
71. EM g Fi 3ifad TS BE-d ofi? '

(A) =1 (B) STt i

(C) TR (D) T

72. What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita \ » (B) Jakoimoti
(C) Kherxuti 3 (D) Soirindhri
72. iﬂmmwaﬁwﬁmmﬁsw”
(A) TS Wzl G (B) @@l
(C) cxel ' (D) CAfE!
72. R RO Promeie a1 B e 2
(A) SRS SRl (B) el
(C) cx=epel (D) o
72. o= weReat foef get AmE?
(A) 3TESE 3ATEAT (B) STHATT
(C) @ (D) et
72. v YeRed 6T SE w1 AW T AqT?
(A) A3 ATEAT (B) STehIgHTt
(C) =g (D) &fsh
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73.

73.

73.

73.

73.

Who was known as the ‘Lion of Mysore’?

(A) Adil Shah

(C) Krishnaraja Wodeyar
TR PR’ (I SeTe i 2

(A) =Tfwet w2
(C) TS TWIE

@ TR ke e Al foge 2

(A) =fwet =2
(C) FReTET STCAR

| Hrgee fie’ g s

INBE USRI
(C) FORS TR

T % I AW Y FRE S ST en?

INBELESR U
(C) FOURS AR

(B) Hyder Ali
(D) Tipu Sultan

(B) 22w wIfe
(D) 5% perer

(B) 2RME el
(D) b7 eTem

(B) ®IEa ATelt
(D) fag geam

(B) Fqerell
(D) Y gea

74.

74.

74.

74.

74.

Which State of India has Jallianwala Bagh?

(A) Punjab
(C) Rajasthan

@Wmmmﬂ%@?

(A) 1G]
(C) ezl

SRS 15 SRCES (I AN TS 2

(A) “nEgrR
(C) «r&ZIe

SAIHATAT SN ARAT e TSI &7

(A) 9Tt
(C) USEIE

SiferareTett SN 9Rd % forg TS | o 27

(A) USTE
(C) TSEI™

» (B) Haryana

(D) Uttar Pradesh

(B) =
(D) Tes Zew

(B) =fre
(D) Teq 2w

(B) ®IAMI
(D) 3T T

(B) ®fm
(D) 3IW =
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75. Which of the following countries was a part of the Axis Group during the
World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
75. TSR Resgad e RIS @rLe om S ollba SiRAwE SR 2

(A) e (B) I

(C) =™ (D) (RSB BT
75. TR oIl e (i @l fReueas T e wie fow

(A) 3ENS (B) I

(C) F™ (D) TS Aeq
75. A1 T IEETH GEE MERTE SR o6 86U Tfrd g1 sTerTHe ¢

(A) = (B) ST

(C) % (D) =i st
75. fefafaa § & Fm-ar 3w fodia fovegg & <R o we 1 feegnar?

(A) ie (B) S

(C) ®E (D) TR aa

76. The ruins of Angkor Wat are in_which“eountry?

(A) New Zealand - " (B) Indonesia

(C) Vietnam . (D) Cambodia
76. 9359 qAGT [T m:m cmw

() fefecey "\ (B) ZCSICRA

(C) TecBa - (D) e
76. IFISOH-GF FITRCR (@I W R 2

(a) frefee (B) B

(©) fewmeam (D) e
76. 3T I TREERET SRR e gTeld & ¢

A) e (B) 3= AR

(C) Tirdam (D) o feam
76. TTHR 912 % Tk foha <u 4 §7

(A) =sficte (B) seMfam

(C) ferraam (D) wafea
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77. Which of the following countries does Assam share international borders with?
(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan

(D) Myanmar and Bangladesh

77. FAFRS @FEER (RGOS SPIC SES1eF AT =2 FCF 2
(A) TOF = B
(B) B9 S e
(C) BT F BT
(D) IR S QBT

77. NI G el SPICTT TBHIRF FAEIE! 2
(A) O @ B
(B) T 8 qeTC
(C) T € THI
(D) SRR € ST
77. STETN A TR EeR fm T
(A) 5T R .
(B) = AT sTete,
(C) TS TR
(D) TIHER AR TR

77. rm Tl & @ fora 2o & ary Siauisia i drgn war 27
(A) ¥z ST <
(B) <A IR SR
(C) IR R YA
(D) PR 3R FEATT
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78.

78.

78.

78.

78.

If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East

Tfr Qe RN (o2 711 SAIRBIET (oleeT ¢olie ofF =f2 wiew, cocs [Eede @it fsicer TfF
R 2

(A) wFReR #[1 {Ca
(B) “[< #[1 “A5wCaT
(C) =63 “<1 7<CeT
(D) TE<S °[1 e

aft g6 e (o2 Caiee AR e R Sew AR, woq ft (e Twoz ?
(A) wFRel (A 2 me

(B) & ¥ “Foumes

(C) ¥ (AT 2 me

(D) Ted (AT M

T e 'st I =emefEe Erardtim oS oA e, steen fon A feme forai?
(A) EIATHER T )

(B) EHSTHGTE AT,

(C) HHTAHER HESTY

(D) WTETHEME HHS

Ife 1S gaTE STeTS =wE ¥ WY e 3R I5H W @ R, a1 98 e fown # 3eW W @ 87
(A) 3feror & gd it 3R
(B) g4 © ufyem &l AR
(C) |fvem @ qd &I AR
(D) W & qd &l AR
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79. What is the Westernmost State of India?

(A) Rajasthan (B) Punjab

(C) Maharashtra (D) Gujarat
79. OIS HBIRS(P OIS A ST (Pl ?

(A) SrerZLe (B) “i&[

(C) T=IE (D) @&
79. SRCSH ~MSTST ey (I 2

(A) qrErElT (B) °ngR

(©) T=AIE (D) @eD
79. RAH HEE AT TESST 76 7

(A) TSEIE (B) =T

(C) Hewrg (D) TSI
79. WG 1 T ufverdt T5T HH-41 77

(A) TSR (B) U

(C) Hewrg (D) TsUd
80. Which of the following peaks does not 1p'elo~ng to the Himalayas?

80.

80.

80.

80.

(A) Annapurna \ » (B) Kangto
(C) Anamudi p i (D) Kamet
e Ieeh! %zet f2uere O\ 2

(A) e G (B) 1Bl
(C) v , (D) JICTe
Tevar (e oA fEaeteas Srgsfe =@ 2

(A) e (B) WICHI
(©) T (D) <FIcB
et = fufafan ety T

(A) st (B) i
(C) wmmf (D) e
frefafaa 8 @ w9-8 = fae 9 getua T8 27

(A) g (B) =
(C) g (D) FW=
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81. The Great Barrier Reef is located in the seas near which continent?
(A) North America (B) Australia
(C) Africa (D) Europe
81. (I TR AN TS J2R 2 DI ST ?
(A) Teq SCHf (B) g
(C) wF< (D) 2T
81. J2R 2AE 2l (b AR ) (Pl TR 638 Tew w1iEs 2
(A) Teq SR (B) SCGml
(©) =l (D) e
81. Uz SR fwr s gTErAT Wiy e &7
(A) &1 AT (B) 3refern
(C) i (D) 7=
81. Iz dfter O fohd TeTE o e @z W fea 77 '
(a) s srife (B) sHeferd]
(C) erhret (D) A
82. Which of the following is a mountain I:éngé of South America?
(A) Andes \ » (B) Karakoram
(C) Alps L (D) Caucasus
82. PRI CRICH! el SR, 7T 2
A) «fes (B) I
(C) TE= : (D) <CFdI=
82. Mo GG 7T SRR @D e 2
(A) wfrE (B) FHRICPEN
(C) =me™T (D) <RI
82. TEA &1 @i STHNEHI SIS B
() T<H (B) hThTH
(©) T (D) e
82. Freferfian & & F-ef 2o smifem 41 wha ST 27
(A) (B) FTHRH
(C) 3o (D) HTehe
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83. The giant waves caused by volcanic eruptions or earthquakes under the sea are

known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

83. M5I99 ©fere (FR1 WA Trdlael wa) iR jE w91 928 (Ol (il =
(A) T (B) T1-=et
(C) AR (D) P

83. LT “Cd WG SPLAT® N $RGC™I Tl 8 F2FA 0o ol =
(A) (B) e
(C) I (D) Bfree

83. ol firema 310 WiEl SREATIS TalT TS Arefe=Te el SrarhRe! ESH
(A) g (B) smHIETE
(C) T IRgEl (D) = FifEmme,

83. WYE % 9 SaTE ERE A1 s % HRT Ieuw T adiaRl el Sl &
(A) g (B) =ghard

(C) T THA (D) Faa

84. Who is the Chairman of the Rajya Sabha?

(A) The Prime Minister S (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President
84. JEPTOR S (FI = 2 & '
(A) e (v (B) To@zeIfe
(C) CTRPTER Sy, (D) «1geif®
84. JEPTel IF (F?
(A) e (B) Tomigeife
(C) TIPSR SH=F (D) E~fS
84. TSl VI ATHERITET Gr?
(A) TTETE T (B) TIETE TRRATR
(C) gs ATwE FAfi (D) BTRRATR
84. TST GT I LA HH Bl 27
(A) TaH Tt (B) Suwrgufd
(C) ARaNT AT (D) Tgafa
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85.

85.

85.

85.

85.

Who administers the Oath of Office to the President of India?

(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court
(C) The Chief Justice of the Supreme Court

(D) The Speaker of the Lok Sabha

S JIFfEF (FICT *17® Ao IR 2
(A) ZEeTE!
(B) &l T FyRIeRE 25 R0

(C) Tohow TRIERE 7 R
(D) TN =P

(P SRICSA AFATSCE *I2/12=F 15 T 2
(A) 2T

(B) Twall Tw TRERE 24 [oReife
(C) T TR 24 [vmeife

(D) CETIFTSR S

qRAR TR e TR e ?
(A) T F Cab

(B) figh wish ffsmafert e frmi

() T fefrca wrars R

(D) g et gffii

9 o U <l g <l 399 i feetmar 27
(A) Ta= Tt

(B) Tegl 3= =me™ <& g =mne
(C) HaT= =T & &I =R

(D) AR\ 31eTe

SLRC—2024/P-111/ 1-E 49

[ P.T.O.



86.

86.

86.

86.

86.

Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka

feHferie SpR qMRETNES (IR AEECs qMeacd e 2
(A) T (B) wzal
(©) cme (D) B

s Tfafie speR @ awRED THEeTe I i ofd 23 9

(A) TRl (B) =

(C) crreml (D) Gl

MRS B AHMEA 9 gMeral Sars SR ?

(A) @ (B) g

(C) < (D) L

frefafiad § @ stEm o1 SH-91 Giiid S STHARGE o9 8 S99 BidT 27
(A) . (B) TET

(C) =T A8 (D) e

87.

87.

87.

Where is the Tocklai Tea Research Centre located?

(A) Jorhat ) (B) Lakhimpur
(C) Tinsukia (D) Dhemaji
G2 B2 STl (FF S SRTS ?

(A) =2 (B) =7

(C) TofepSr (D) CaIfS
(B2 Bl IR (T (PR SRS 2

(A) == (B) =7

(C) e (D) CIfS
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87. T3 ATET AR FHAMT Fod &7
(A) ST (B) W&y
(C) ferrgleran (D) &St
87. Thells A1 TTHLH w5 el 16d 27
(A) SeEm (B) eREfHg
(C) fargferan (D) emst
88. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?

88.

88.

88.

88.

(A) Uttarakhand (B) Himachal Pradesh

(C) Maharashtra (D) Uttar Pradeésh

(oM™ e FRERT @B ¢and el (2, T TS SR 2
(A) Teqrdy (B):, 21651 2fene
(C) w213 s, D) T T

Al C2, chWgﬁ%mmmWW%?
(A) Teare . (B) fasmet aom
(C) w218 ~ (D) Tex 2z

Tifere e HraE [ M99 @il idr 991 9" TS g ¢
(A) ITE = (B) femmer yem
(C) werTy (D) I He

Tiar |, Mt YaT FETa i Uk 3, fhe T 1 o 27
(A) TGS (B) fewrerar waw
(C) wemg (D) I JeH
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89.

89.

89.

89.

89.

An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour

(C) Zero Hour (D) Party Hour

TR ATTS (FIC GOl e1q e Sqierer sl Sifqzce 2p/Raw =i S 999 A
I B AR GEB] TR 6 for (i 2w 2

(A) =R = (B) WIS Flel

(C) 0 =T (D) IR Tl

A Gl T S DA el R ST g e/ ReR R el o o el
(A) FET T (B SRITZCISTR et

(C) T FTeT sy, (D) TS T

WA e AR S R T e STt it /s R e
forgit gr, & THE A7 G e

(A) 3eife T| N (B) AMSIGH ER TH

(C) <o’ Tm (D) BT a9

R wae § el vk o7 o & § forn forelt 4@ g9 & T/ 391U ST U aTel 39 T e
IR IS G

(A) T e (B) WeATE-HISH el

(C) I A (D) ™ 1
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90.

90.

90.

90.

90.

Who is the Chairman of NITI Aayog?
(A) The Finance Minister
(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

S (NITI) SR SGFF (Fle 2
(a) foe T3

(B) T

(C) SR Rers @3 9=<q
(D) Tergfe

TS (NITI) SR ST (S 2
(a) fe =@

(B) @uer@

(C) SRR f{ers FIE el
(D) To=igefe

Hif (NITI) SR sme=fmE o
(A) T TR ;

(B) TITETS HHA

(©) umﬁﬁmﬁawﬁnﬁt

(D) T3 BRRATR

Hifd (NITI) =0T o1 27987 SiF 27
INBRESE:EL

(B) W& Tt

(C) Wt T Sk o1 TaT

(D) Swrgufd
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91. The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat
(C) Golaghat (D) Dibrugarh

91. [NENTG CHIKFIANT TP (FT el SEiEs 2

(A) TRRPTsR (B) @==26

(C) catrmmaD (D) fegsrT
91. [NENTG CHIKFTIANT SPICIE (I (SR SIS 2

(A) FrRETeE (B) =26

(C) CalreTrTs (D) fEgan
91. Wi Fuferre oma AR 59 e 47

(A) R (B) SieTd

(C) TerTETe (D) fegus
91. JuTciiTe Fwret /om = form foret o fedr 27

(a) Frremmm . (B) STRET

(C) e A8 (D) fegme

92. The international.festival ‘Kullu Dussehra’ is celebrated in which State?
(A) Himachal Pradesﬁ (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana

92. WFEIoT THR g WAl (TR TS AT 1 27 ?
(A) T2 e (B) Teqee
(C) Teq e (D) =f<E

92. IEHISF TR Py MO (FIe ACEH “AfeTS 27 ?
(A) T2 oo (B) Tware
(C) Tex 2o (D) =
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92. TSN ®RAl Fg TN Gl o6l TSNS Bl STl ?
(A) Tewm= gem (B) 3@ T
(C) W = (D) wIEMT

92. IAULH R ‘Fg U fohd TSA H AT STl &7
(A) feama g (B) IWI@S
(C) I 9o (D) @

93. The Bering Strait separates which two landmasses?
(A) Australia and New Zealand (B) The USA and Russia

(C) South Africa and Madagascar (D) Japan and "China

93. (AR CIEIICH (P YBI PIGP 7P T¢I 2
(A) SR = Wefeers «(B):, S F&1E S MR
(C) wFwel Sl I SIS . (D) TR S B

93. @Rk =M@ @ 76 FEelE ﬁg@s'ﬁa?
(&) SR s e Cab (B) e w1z @
(©) Wﬁwwmewm (D) ST 8 Biw

93. df E-Felel o1 A eT-WiIE! SrEmar?
(A) i sl o= (B) 330 THo o TR AMHAT
(C) e 3T(HehT TR HETTEHT (D) UM AW =4

93. AfGT ST+ fofd a1 y-9rT w1 Ter st 27
(A) sTefern 3R =ficie (B) GYh TA TG 31K &4
(C) afequr hiehT IR HSTTER (D) SUM R =
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94. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan
(C) Joi Barua (D) Maitrayee Patar

94. *RJ& (FICI (T “Serlerwi” Aefba AP I 2
(A) o fFaa (B) Tfery gl
(C) = 34 (D) Ccaat “oa

94. *MFE (PRI NG Serplerwl’ ol (& feTeecea ?
(A) oI &5 (B) ey $23
(C) =& I (D) CCEs! Areq

94, YFS Hid THE AARM<T HATEH G ar?
(A) T form (B) @Ifres Yt
(C) ST s&aT (D) B greX
94, YFS i g MU T “FahH-ar Ta fora fq@es
(A) T e ey, (B) TR

(C) = =& A8 (D) TarRft uTeR

95. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora ) (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika

95. T (I FIf2eT (514 T AP ST T <5 2
(A) ST | (B) “@ FI= (Tl
(C) AE (2B (D) F 5T FeiqFl

95. TPRIGETE (IS IR (T4 7 SRR &FS T F1 2
(A) ToRT <= (B) If<q 1« (T
(C) B CaIzfE (D) I 5% FASIEPI

SLRC-2024/P-111/ 1-E 56



95.

95.

1eH TYer foan = e ferl o) ge1 =7
(A) TEATT 5T (B) Hfer FHR I
(©) e e (D) FH3 == & fh

FTEH YR TEsh g SR 1 9l 419 ©
(A) "I S (B) ufers AR S

(C) Tem erg (D) FYE =F TSI

96.

96.

96.

96.

96.

Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?
(A) Nabakanta Barua (B) Hiren Bhattacharyya

(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta

s 2B w2y A R e G ey

(A) I I (B) 2@ SHEH
(C) wCama x2S ey, (D) T I TS

(A) I8 I : (B) 2 EOR
(C) SREMR XM, (D) ==l THE 7S

T AR fosTe - g% -gE meTgEd @t ar foai?
(A) eI ST (B) fetd wer=md
(C) el TEfeha (D) ¥7%9 PAR T

=1 6l Ik, MATE TEYE HEgE fohad fordt?
(A) Terhid ST (B) Tetd wer=md
(C) weig A1 Afepan (D) 3TEY FHAR
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97. Kanchipuram Saree is produced in which State?
(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana

97. e[ 8 (T4 eTS T <1 2 2
(A) T (B) wIfee
(C) F(5% (D) CSCERAMI

97. I T (e ey Teenfws 27 2
(A) @I (B) SIfNe=g
(C) o (D) CSCETsTTl

97. FHH |G J« TES3AE fagH?

(A) T (B) T,
(C) Tl (D) IS

97. HEITH ATt 1 3cuTed Ford T=T | Brar 27 \
(a) ey, (B) Tl
(C) e A8 (D) T

98. Who among the following was a famous painter?
(A) Vincent van Gogﬁ (B) John Lennon
(C) Bob Marley (D) Marlon Brando

98. e (@FFaRIF W e Basa e 2
(A) TS5 coa a1’ (B) & (&
(C) 3’7 Ieef (D) Wcett Acel

98. A (F IFE [UTe Hafa foger 2
(A) ST e Ao (B) Sl (5T
(C) 33 el (D) SCEl ACl
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98. TEEE THE AR TEAT YT Far SATRETH?
(A) TirEee 97 ™ (B) SH &=
(C) =9 Tt (D) e STe’
98. f=faifga @ & #I9 us uftg Femeer on?
INECAC R (B) SItA oI+
(C) =T AT (D) =T F&
99. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent
India?
(A) Lawn Bowls (B) Badmin'tonu
(C) Carrom (D) Judo
99. P Siferl (B B<E T *RIEB (Y (YT Bed aUfSffag a2
(A) I (B) " @B
(©) T D)
99. PICHR iR (B mawﬁ?@m I (LT SRCed Afefeifag 967 2
(A) T I R N (B) T
(C) <™ » N (D) el
99. 3TEMM ATl =gl TR TEHH FEfRam YRAMH S A7 Ao ?
(A) T = (B) ssfied
(C) ¥ (D) %’
99. 3G I AT =eRl TR T fcran fhe T § wra =1 wfaffees st §7
(A) @M S (B) Sefiea
(C) (D) et
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100. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand

(C) Sania Mirza (D) Leander Paes
100. (TG (LERORIFE orire < |

(A) 7ol TP (B) ~[CareTl Cole™

(C) wfera firet (D) FIReR (e
100. S (RIS iz T |

(A) TN TP (B) =Tl ConAmm

(C) e et (D) FiEeR %
100. sEfieT TerumeEt fmmf |

(A) <1 FHRR (B) geiat T

(C) @ fosit (D) forreT om
100. =fie Raedt =1 we=fig) ‘Q

(A) €T FHRR (B) gﬁwﬁnﬁ%ﬁ:

(C) @i forsi (D) fogst 3a

101. In which sport did India not win a\medal at 2020 Tokyo Olympics?

(A) Boxing A » (B) Weightlifting
(C) Taekwondo S (D) Wrestling
101. 2020 5 SfAFoRFe SRS @R (4TS (ST M oS 341 e 2
A) IEgm ™ (B) SICAICER
(C) BlRcPECS (D) &=
101. 2020 GIFe TR Sae (FIe (IR TMF (SO 2
(A) Tm (B) ®ICACSIT
(C) DRCFRICT (D) %
101. 2020 HAEEH ket fAfries SeRERETE YRl 6 ToiHmETd ed WHRa ?
INEEISIREIR] (B) Tifer T@mm™
(C) dTghaTE (D) EHATER
101. 9Rd 3 2020 RN Afus ¥ f5a @t § qesh Tt Sfiar?
(A) Faa (B) Wi
(C) qrEEEr (D) Pt
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102. The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton
(C) Gymnastics (D) Track and Field Events

102. JRF AfSIfaTeR *R4e TN ¢ el (FERY (P19 OCS GO ?

(A) STCoR (B) @
(C) femgnfs (D) G o< fFwq ¢4
102. 9IS dfecaiarer g SRS s (P (T 0% TS ?
(A) er” (B) TG
(C) TEmemo (D) TS @R fFeeeq el
102. TFY FERR TERERAEN B S € o g« Ter@s gl T 7
(A) FEREE™ (B) ssfiee,
(C) T (D) TSR BIARTE ST STRIET

102. s o v Qe &SRB 6 T TN
(A) TRt 1 (B) S
(C) Tmmfeeaa A8 (D) & 3R Fieg T

103. Identify the incorrectly matched pair.
(A) Stefan Edberg:: Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football

103. SRS el Y&dl @[l Hre F |
(A) T2 auasf - f&eh (B) fEm1 @9f : 7' (Bfevm
(C) Bizeme Tog : s (D) T BRIl @Il « Fo3e]

103. TEToIcd CHetleal (el fofers e |
(A) OFF @1 : fFFd (B) Tt 3sf : o1 (BT
(C) TizeE T : o (D) @M @mICEe! : Foe
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103. TR FEEAE SR T |
(A) Ttk weamt : fopehe (B) =4 = : o o
(C) TR 3Igd : Teh (D) ffEam’ THee’ : Fead

103. TTad gAferd S i T |
(A) e Tgat : foehe (B) = &t : &fq 2

(C) TR JH : Meh (D) Terfeeami TATeeT © Peata

104. Where is the National War Memorial located?
(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar

104. JER & Ao 3'C SEiErs ?
(A) Heora S (By 7o fram
(C) BrR e, (D) SO

104. FFH T "EF (PN SAFS 2 A,

X

(A) e G (B) o fwa

(C) ©rear - (D) SR
104. =39 IR TR fern w8 €7

(A) iR (B) Tem fagt

(C) daman (D) A

104. T g TR el € 27
(A) = (B) 7 fegh
(C) @ (D) 3TgaT
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105. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

105. FRRIS @GR Gre P 5[ fNee @ 71 2
(A) TR SAF G
(B) 2w SREpaet
(C) Thcay oI o e
(D) fefercoer Pt

105. o (FGA 0o ST BT PN 2Pg Goo ?
(A) TR € G
(B) =1 SEenael
(C) PR wlerel @ Bf Arery
(D) ffEbre fors

105. ww&&rﬁma@w@nﬁ@ﬁrﬁé?
(A) T FRa I = T, -
(B) TSI MG W
(C) BT-YTIS TR IS
(D) fafsreat dietieng

105. 3199 9 1 fien sguw freafafaa # @ frag gafa 27
(A) HEIUTEH AR TSHTaeht
(B) HE STfcheRT
(C) ¥ Afiecr@ 3R oy a5
(D) feforea fatenm
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106.

Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
106. IR @CH afsem e qeae TPIRE F197e Sive =7 ?
(A) TRC= €% b’ (B) Rwm gy Ifwm
(C) 6 W= (D) BT5T w592
106. SIcod (Pl AP MeAEE TeT=ReTs TP TS w3 2
(A) FRCH S Gl (B) wWifzml =ire Tifzm
(C) CFPf Ha (D) 15T G5
106. TEMEM o HHAMT HIATTET HoR MR T=77
(A) @A TR gS (B) wfe= T= Afews
(C) wE med (D) 2T "™
106. freiferfan # # F-a1 wTe e A % o i T 2
(A) A T Za (B) wieat Usg Hfest
(C) ®iE Hied (D) <Tel AleH
107. If the pH of a liquid is 50, then the liq'uid. is
(A) alkaline in nature \ * (B) neutral in nature
(C) liquid metal Z S (D) acidic in nature
107. (PG O “Mi2fq pH WM 5-0 2O o9 7MY
(A) 4R e AN (B) 7 =Ffeq
© wmay G (D) i 2
107. 491 wacer 1. @25, \(pH) 5-0 3¢, (8 waeils
(A) F 2/Ffeq (B) =i aighon
(C) = 4o (D) w5 agfes
107. Jf< #AFE FE@EE pHIT 50, 3Tl o ATETEl
(A) @re g (B) &
(C) et =g (D) ufere wmgf
107. S foret 53 o1 dio Teo (pH) AM 5:0 8, Al a8 59 ©
(A) Tpfd § @i (B) Whfd H deey
(C) Wt =g (D) i & vl
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108. Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh
108. 1 GRENI, 2024 CICH OFeq TGS @ 2
(A) TR 5% oI (B) I N FIR™
(C) wamiel 44T (D) FrEEne PR
108. 1 RIS, 2024 AACH ORCed T7RIZ7fS 3 2
(A) (oI BT oI (B) AW =12 (FIR™
(C) oM 44T (D) e Pz
108. 2024 AEAEM 1 TN Wifcfire TRa deTs geriieEr are’
(A) TS T T (B) TH-Y @i
(C) ST et (D) Ty fiE
108. 1 SHafl, 2024 1 YRA % I I &7
(A) T =i FTE s, (B) T AT
(C) S erEg 3 (D) TS fére
109. Which of the following belongs to Class I category of lever?
(A) Scissor ) (B) Wheelbarrow
(C) Human arm (D) Stapler
109. RS @R 22 AR forerq =mefs 2
(A) oI (B) o=l ait
(C) e (D) (BT
109. oA @D A IR foreicad omwss 2
() <o (B) co=TNfe
(C) T T© (D) BT
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109. TEEH 5« HEEn grar 1 faemty fafefr?
(A) @Hfy (B) et Tt
(C) AHfa A= (D) WUAR

109. f=fefigd § @ w-u1 it it e [ 2o § geifed 27
(A) =l (B) T
(C) wHa YT (D) WUeR

110. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland

(C) The United States of America (D) Japan °

o

110. (I O SIS ~IOIPre 8] *Pge 751 969 5] 7 DT R ?

(A) Fnfee [B): pRECe
(C) A To1g . D) S

110. (I (O SO AT 21 ~(GPRCTOnIT M @1 weR ?

(A) e : (B) “EEReS
(C) WIF T&a1Z (D) S

110. 9 TRRH R e Tef dwere T 6 &7

(A) fSIa (B) YoiRct
(C) iR SUTE BT (D) S

110. fFd 391 % TP a9 | ot YRfH TR TH Hhe Y 27
(A) Ssfiet (B) fersieie

R

(C) |IH TsT I (D) ST
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111. Which of the following is considered as the earliest compilation?
(A) Yagjurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda

111. PRGNS @R S6RSCS 2@l Aper e [Reavan 41 27 2
(A) FTHET (B) ‘wadcaw’
(C) Ao (D) ST’

111, SICoa @AGCP ADRTOT e BEid Reavel w1 =3 2
(A) T (B) “Siean’
(C) ‘4w’ (D) TN
111. TERN S satgs e gy o s g 9217,
() T (B) ‘e,
(© ‘foae’ (D) ALz’

111. ﬁmﬁiﬁﬁﬁﬁﬁﬁéwﬁwémmﬂmwmé?‘. '
(A) FIgeE’ oy, (B) ‘A
(C) ‘FFae A8 (D) ‘@mae’

112. Which of the following places was a part of the Indus Valley Civilization?
(A) Machilipatnam ) (B) Babylon
(C) Mohenjo-daro (D) Byzantine

o~

112, FRRRS @ T P Torer erer o@efe ?

(A) TR (B) Qe

(C) CEGMICAN (D) AfECSBIZA
112. fca Tfafie @R gAML P S Torer =i fos 2

(A) TEfereres (B) It

(C) wccgmIcal (D) JRCEBIR
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112. A 99 SR ey gRAt demta sermE?
(A) HSTTEH (B) sfe’=
(C) WeAsl g’ (D) fermf=e

112. Ffafad § @ #F-w wom Ty ot g o e o
(A) TSeugTg (B) et
(C) HrEAsIES! (D) sfienfeea

113. Who among the following was involved in the Battle of Waterloo?
(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George 'Washington

113. T0E J&© FARIRG (@RS St wifes ?
(A) TN Q@S (B):,. IS &R
(C) awe BEeTm e, (D) T ARG

113.%%@%%&7@6@@@@%%?
(A) CreAfers =G (B) & ficprer
(C) «T 2o (D) & SHIPHG

113. TEREE SHF G- AT SRR e s &7
(A) T s (B) SR fies @
(C) T fezem (D) St =Tfre

113. Treq it wer # Ffafad @ & &9 i on?
(A) Aot SR (B) SR fihera
(C) TEfew fgeer (D) St aTfFres
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114. Bhairabkunda is a trijunction of which of the following?

(A) Assam, Bhutan, China
(B) Assam, Bhutan, Arunachal Pradesh
(C) Assam, Bhutan, Sikkim
(D) Assam, Sikkim, Arunachal Pradesh

114, (o5Ps FRERS @ [eea (@R 2w 2
(A) SPH, $HIF, B
(B) P, O, SECIbe] 20
(C) =P, $oF, e
(D) =T, fofe, Sreembst eiom

114. Tod (e foaf ZIca Hecaezs (e<ge ?
(A) =PI, TOM, B
(B) SPT, BN, SRFATbE 2wl
(C) =P, eoM, Bifes
(D) =P, PIfRFS, SI=eelet 2o

114. REGH<al MEEH F6 SEH SRS ST ?

(A) smEm, ga|, f=
(B) 3T, JdH, Ut Jawl
(C) TmEm™, ya, fafen

(D) 31w, faferm, revmee geu

114. Sage Frefafaa § & foraen Gewm 27
(A) 3TEH, 2, <
(B) 3TEM, ¥2H, &M= Ja¥l
(C) e, e, fafem
(D) 7eM, fafed, sTEv=a Tat
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115. Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater
(C) Flowing river water (D) Seawater
115. PR @@[eE Gam Toa1e SR 2
(A) g (B) T A1
(C) @RS =g et (D) TSR [t
115. TR @D THETS FIw TS 2
(A) TR (B) 3B w1
(C) =aifz® e &= (D) TR &
115. e e TIETET TaTe ?
(A) SR®-T5T (B) T@1-7Il%
(C) e S| @ (D) enf &
115. f=fefiad & @ w-u1 @ie § gme=d: T 2T 27 :
(A) Tewshor (B) =fEr = ATt
(C) &t et =t qrt (D) GH3 1 qH
116. Which of the following mountain ranges is ~in North-East India?
(A) Barail Range \ » (B) Shivalik Range
(C) Satpura Range Z 5 (D) Aravalli Range
116. MRS (@R 6T Teq-2Fges o=Es ?
(A) <i2ET oAl K\ (B) Prfere s
(C) T[T~ (D) SRR RS
116. A “Reeislm T @b Terey She waFs 2
(A) @RS o (B) Frifers s
(C) Ao Rt (D) SRRfE “Roat
116. TR e BTSIHT AT T-HHES TRATE 7
(A) SEA BTSHT AN (B) ferenfersr gt @it
(C) | BISHET AT (D) AR BISET ATR
116. Ffafad § & ®F-df vda e qaiw Ira § 27
(A) =R Aoft (B) Renferes aof
(C) @ageT Zvft (D) 3TEet qaa ot
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117.

117.

117.

117.

117.

Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.

(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

o

fRfeife (@M Tfe srem 2

(A) FFFRT SO G394« (FER *NPe 7% |

(B) W@l SReF Qe (Fw TS ey |

(C) SR S CPIRa B1o17)g ©Req G+ (IR =T Trey |

(D) ~[TChd SO ¥ (FII NPT ey |

qNewa @ RIS e, 2

(A) FIFFIRY SRCST G0 (FHHOTS 26 |

(B) eTal?l SRCed > (FHHOTS S |

(C) Wsmﬁﬁj@@mﬁﬁmwa@m
(D) [0 e @b e aET——

ey 7 B RS e

(A) ez wwat T fres g T

(B) (T AR T, for&si] G el |

(T T B e e e )
(D) ggertan WAty T foresit gerer T |

Frfafiaa @ & F9-91 A Toa 27

(A) TeTET TRA T TH HAMIT TS 2 |

(B) WIGTET WRA %1 T haeMiad JesT B

(C) ¥ieHH 3R IR FIUayg YR %1 T Had Y9 2
(D) Y=t IR 1 Teh MY Y9 2|
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118. The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which
continent?
(A) Asia (B) Australia
(C) South America (D) Africa
118, (P FRIOME G KYICE, TG (T2 SE FHoIfE (T41 #[19 02 C5ICR 2
(A) «fem (B) g
(C) wf=pel S (D) TIfEFpI
118. R, TGS ([ G2 FEOGIE (1 (I TR 945 e So@ FCace ?
NIRCIRE (B) SICGleRT
(C) Wi AR (D) wnfFl
118. o gmal, He @l 3TRI hehe TN Fel TERATS SRS ?
(A) TR (B) a@%ﬂn
(C) @t AT (D) an‘ilm
118. eI, HHAE! 3R Fehta e wersd ¥ bt Jordt &7
(A) e e (B) R
(C) =T emifaRt ~ (D) 1Y
119. Which of the following.s an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland
119. ffIRe @ Sl Feqg 9= Romrey ?
(A) @RS (B) (PN wIiRcere
(C) zHR (D) Tewcerey
119. oA @ADL TR FeAE 9F0 F7RIE 2
(A) TwIaTZR (B) I @
(C) =& (D) T
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119.

119.

TR e SATHIER 1 gTet T T3 TEsii?

(A) HTETTRER (B) i o
(C) @ (D) et ©
frfafad & 8 SH-91 Gg% Ts9 SN H TH 69 T59 87
(A) HSTTER (B) ¥ g
(C) & (D) Fcts

120.

120.

120.

120.

120.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano * X

(C) tornado (D) tsunami

AT SIS~ oI A1 B Ao RewReR gwes fefe @i AR (e 2w
(A) T amae (B czEbIa

(©) St T )

SIS TS (A0 A Rc*zpm@fﬁ% g3 A7 fersfe sewics T

(A) T 2w R\ (B) =eaEfarfd

(©) gty Yo (D) >t

meft ETffer s g g o @ e g

(8) fog g (B) 3% i

(C) e (D) g

T e ¥ g | T e ST AT % ST |ed i shal ST 8

(A) TSI (B) SeretEt

(C) T (D) gt
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121. Which of the following is not a component of the Constitution of India?
(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights

(D) The Fundamental Duties

121. SR @ S ARYEE Some W= 2

(A) T IfBemE e NS
(B) %A g SR

(C) e ST

(D) (NFerF T

121. SICod (SR SRCS AT TAMI 71 2
(A) FF “AfsEmR ot T
(B) (Fcwa g wiiEem
(C) CNfers ifepra

(D) (N T

121. TEEN T wRat giiEl sEriha?
(A) T Rl TR,
(B) ﬁmﬁﬁaﬁwmm
(C) Tfeet Heg
(D) TfeAT AT FT
121. Ffafed & @ #F-o1 o9 wwd & d@fggm 5 78 27
A) =T % Hifg-FEves frga
(B) % o fHe3h AfTRR
(C) wifeTsh TferpR
(D) HifcT® Haea
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122. A continuous rise in the price level is called
(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
122. o9 B9 SIS I (il 23
A) ZRT9l (B) SHIfe
(©) =fs qurfe (D) arfs
122. eTEEA F9rS e <1 2
(A) frverel-"HIfs (B) SHIfe
(C) s qurefs (D) urife
122, 9@ 9 TAAEH! S84 STAEE AP 9S8t .
(A) TREE (B) fewmr_
(C) TTEINEFRIRH (D) THEITA
122. 9od TR # fRa gfg 1 &1 ar & ,
(A) TTHRITH (B) fewizm
(C) TR (D) T
123. What does DAY stand f;)r in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana
(D) District Achievement Yojana
123. ABW 27 GG W= (DAY-NRLM)S DAY 5 3o 2

SLRC—2024/P-111/ 1-E
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123. e AN S i (DAY-NRLM)-9 DAY @108 Fl Q-0 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

123. WFA WA AEAfags TRE (DAY-NRLM)3TE DAY H1 JSHI1?
(A) feafeae sfafafefa asmr (District Availability Yojana)
(B) dFeamet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dHeTa 3Tgafes A5l (Deendayal Ayurvedic Yojana)
(D) feafede wfawm= ASAT (District Achievement Yojana)
123. TYE Ui sTrsiifeRt 9 [National Rural Livelihood Miséion (DAY-NRLM)] § DAY &I
1 a1 27 \
(A) 5o SueTsyar ST (District Availability Yojaha)
(B) dHeaTa NG AT (Deendayal Antyoda‘y,a'Yojana)
(C) EMeEaTd 3gHfesh AT (Deendayal Ayutvedic Yojana)
(D) e 3uafsy BIEC (District Achievement Yojana)

124. Which of the following*fiovels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori

124. FEEIRS @@y Toeys A 9238 (SAICS I61 FECZ 2

(A) To&d (B) SETN@ 19 (2919 N
(C) T 2z (D) fafT &

124. oA @ TP A 3R (SR =l A0S 2
A) To&T (B) SFTN@ 17 271 SN
(C) F<AferT 2R (D) faf7 &ad
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124. TEEH J« g arat G2t @ aue foemiE?
(A) Fg=TT (B) 37dmd IR &4t dimr
(C) Hfer gife (D) faf et

124. F=tafad 8 9 sH-91 3= g T o g foran mn?
(A) g (B) 3rdiad SR 8uet diar
(C) TIfafer glgt (D) fdt foardt

125. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)

(D) Central Industrial Security Foree (CISF)

125. ERIRe @G SRed (R g SR i) w=1 2
(A) RO Toge TEIRal (ICq)
(B) 7 T 77 (SSB) oy
(C) T8 T o (NSG)
(D) TR Srmifa Faereriza (CISF)

125. TIoo (@D SRCed (RN g @il 7w 2
(A) SRR Toge Rzl (ICG)
(B) 1E 1 791 (SSB)
(C) B F a6 (NSG)
(D) @& Sralfes farremfza (CISF)
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125. TEEM FeF1 qra e grférmar ety g at?
A) =M wE e (ICG)
(B) & fomr s/t (SSB)
(C) vma fafwsfdfe mE (NSG)
(D) e g=Teda fufrsie wd (CISF)
125. f=fdfiad & 4 SH-91 9 &1 He g et oo 7@ 87
(A) WA deterss o (ICG)
(B) 93t €M1 97 (SSB)
(C) T geam mE (NSG)
(D) e =Ntk gean st (CISF)
126. What is the chemical symbol for silver?
(A) Ag (B) “Si,
(C) Sv «(D): Au
126. F*R IPTRF FRF© 5 2
(A) Ag A~ (B) si
(C) Sv - ' (D) Au
126. R IR 280 T2
A) Ag Vo (B) Si
(C) Sv (D) Au
126. &1 TEEHes fffor ar?
(A) Ag (B) Si
(C) Sv (D) Au
126. =idl 1 THEHE fug @ 27
(A) Ag (B) Si
(C) Sv (D) Au
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127. Who is the President of the USA, as on 1lst of January, 2024?
(A) Barack Obama (B) Donald Trump
(C) Joe Biden (D) Rishi Sunak
127. 1 SEEE1, 2024 AT SCAP JSET 57T (Pl 2
(A) IEE I (B) (TFIF® G2
(C) & BT (D) o T
127. 1 SRRIRI, 2024 FCACH TR JSAEA A6 2
(A) I S (B) (TS G
(C) cem 2ee (D) M R
127. 2024 AEATEH 1 AT @rfefim i Sorg gy grerfimeEn |
(A) SRR 3TEHT (B) &dlee T
(C) & =g (D) Teaft gk
127. 1 SHad, 2024 1 G TsT JHIEHT 1 TFIRT HH 27
(A) SR A& (B) :aﬁm;m
(C) St forew (D) =Y g
128. Which of the following is considered as't;he’ powerhouse of an animal cell?
(A) Nucleus \ » (B) Golgi apparatus
(C) Ribosome L (D) Mitochondria
128. RIS @GR 21T @R *fed e 7l Keaa w41 23 2
A) @R @™ o (B) arafe e
(C) =TT ' (D) BB wfe
128. Td (e A (@I ¥feq T B R 1 23 2
(A) e (B) oIS %
(C) FCATCE™ (D) RCHRRG
128. TeEM sEE [Ny Sefgeme amm mrif aife g8 fafemm sme
A) foefa fire (B) TR Tem
(C) TEe'sH (D) =T =
128. ffafga & @ foFa gy Fif3rest 1 dTeresd W ST 37
(A) HsH (B) Testt ot
(C) TE=TE™ (D) Hreeritgan
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129.

Which of the following countries does not have a seashore?

(A) China (B) Afghanistan
(C) Myanmar (D) Iran
129. fRfeiRe (lerem ore MsiT Toipet MR 2
(A) B (B) el
(C) I (D) 2
129. Tood (P (Ifbe @b w2
(A) B (B) A=Al
(C) SIS (D) ZAm
129. TEAEM = FEET well L AAT?
A) == (B) ATHIEAT
(C) =R (D)
129. fr=fofaa & @ fore 3o § wgsde & 27 :
() < (B) st
(C) PR (D)
130. The world’s largest island Greenland'is & p'art. of which of the following countries?
(A) Denmark \ » (B) Sweden
(C) Canada L (D) Iceland
130. RS I2ew A7, AWcere e, OrE i 2
(A) o Cat (B) pzcen
(C) <ol ' (D) SIiE5CeTe
130. s 926 Al G (e (e o9 2
(A) (T (B) f2cwm
(C) <=l (D) SIS
130. gA e f3u fireter o« grerf smem?
(A) ST (B) g
(C) M (D) 3TTEHeS
130. fova =1 do@ s1g 3, WiHele, fore Q1 1 v 27
(A) ST (B) wited
(C) =hreT (D) EEAS
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131.

Consider the four numbers given here :
I. 376 II. 629 II. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) 1I
(©) I (D) IV
131. zwe BIRoI 7Ry R 79 -
I. 376  II. 629 I 921  IV. 397
2fSCHT FRAT TG THGAS FGCE (DI el IR [ TPeToq 2 2
(A) TII (B) 1I
(©) I (D) IV
131. 6 (redl BRMG A< Kbl e
I. 376 Il 629 III. 921  IV. 397
2IfSfb Yy SRR TR TSI 20, (I Toe| TRLDFFTSH B¢ ?
(A) III (B) .II
(C) I DYV
131. T A SARHERE! TSR 8 '
. 376  IL 629 1L 921  IV. 397
S TR SR R SR FeTE ae, S Y e s e
e .
(A) III o Ny (B) II
(€)1 ~ (D) IV
131. I & T8 =9R geEst ) fomm fifs
. 376 I 629 1. 921  IV. 397
If T TEAT 1 AN A B FAfed foran S, @t sH-dt = an ged Bt 27
(A) III (B) 1I
(©) 1 (D) IV
132. Find the odd one out.

(A) Sparrow (B) Crow
(C) Bat (D) Peacock
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132. wf¥e *<chl ol Tlomnes |
(A) TEDRF (B) el
(©) gt (D) g B2
132. i & @ e |
() vuR (B) <=
(C) e (D) &
132. TR AREE! T G|
(A) @@ (B) ==@n
(C) wmmter (D) =TeE
132. A Hl T |
(A) T (B) @t
(C) =Ames (D) HR
133. Pointing to Sarat in a photograph, Malini séigi,’ “His brother’s father is the only son
of my grandfather”. How is Malini“elated to Sarat?
(A) Aunt \ - '('].3) Grandmother
(C) Mother p > (D) Sister
133. 97 FOIFS *[Oq B SMGPRZ AR '@, — ‘(967 Orgq g (1 FFMTOR
QG @I | TAfela] =0T CAES (I TN A 2
(&) N (B) izl
(C) =T (D) =
133. @3 TRe *[e-97 e reo @ Tfem Iew, “Or SRER e sImE Premes I Ee
Ceet’” | Fiferell Frelca *[e-9q A To{F© 2
(a) =S (B) Prem=
(©) =re (D) =
133. GETRET TR o S AR g, R feh e s s awe e

TTfT ST SIS SIS J1?
A) Temre (B) foret
(C) fomm INREEWACEIEIE]
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133.

U TER H IRG h S T A §Y W] A Fal, Ik g oh fual W IS ok Fhalld IF
27| wierft, wra @ T yeR wefia 27

(A) == (B) <r&t
(C) =t (D) &

134.

134.

134.

134.

134.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

g% ROBOTICSF OROBITSC f25I(d ¥'T 341 =, (98 PROJECTST ¥'T 29
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

I ROBOTICS-4F 7@® OROBITSC ¥, W4 PROJECTS @Y 7RFS 2¢3
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) RQJPCEST

Jf¢ ROBOTICS f #al OROBITSC, 3fsall PROJECTS M a1 ST

(A) ROPEJTSC (B). RPJOCEST

(C) RPJOECST (D) ROJPCEST

af& ROBOTICS =1 OROBITSC % &3 #ifed a1 w1 £, @ PROJECTS =1 @ &9 @&
ehie form ST, &% @

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST N oy (D) ROJPCEST

135.

135.

In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

9Bl ffeEre Ficeq SIQEh! A9 SI9E 77 FICa SiCE | Piked slare| % wEE F10e eeee
S SCR, FCh! ORMT SIaeTq 2IF6% FIceT NCg | A9 SIQeIco! TORES SQea 2[/1 (FIee! e
99 2

(A) wFEReI-27 (B) Teq-Ifoy

(C) wFa-#(f*5x (D) 7R
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135.

135.

135.

(b ORGITR Prrees <1l qces Ao 7F W | Picees 4| 0% wfwed TR SIEe <l Al
oo <wE 2IFx e | oo <151 (At qcTd A1 @I e 2

(A) w5 (B) Tex-2If5y

(C) wfEpel-#ifou (D) 7

Ha JArEtferme fie'f wrsnien S sRei aeeer fw'f weei aemety ged
BHSTR ST ferarf st aametn | arenfs wesien faaf sl ssfe amaer?

(A) EIT-HHSI (B) GI-HHT&If

(C) WreAT-|HTEIY (D) IS

U fafeamr 4 2R 1 s, a9 o fisk & qd 1 3T 21 W o TIsk & 3o Sfeor § e 1 fus
7, S =frar % fooR & ufem 1 R 7| <fiar & TR @ s = fisw fopa faem & 27

(A) sferur-gg (B) IW-4fm

(C) sfegur-ufzm (D) &

136.

136.

136.

136.

136.

At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes? .

(A) 64 kmph (B)»84 kmph
(C) 48 kmph (D) 36 kmph

e 12 . R @99 o T 15eREbe (o AR @9 BN B e T FRE
o1 2 -

(A) 64 . fi. 2fs 7 A (B) 84 f. fi. =5 7

(C) 48 . fi. afs gb " ® (D) 36 . fi. @fe g6

435 a1 AMeria 9 SRt 15 RAG 12 R e sieea e 2

(A) 64 . fi. =fe Qg (B) 84 . fi. afs g

(C) 48 . fil. =fe ven (D) 36 f. fil. =fe 945

A TSITATHRETE T TR 98 @RS @reten 15 fftea 12 o fifo Miem w@m=?

(A) & ZEmE 64 o fo (B) @ ZrmE 84 fho o

(C) @ 2™ 48 feho fio (D) & 2@ 36 feho fio

15 fife # 12 forciivier T forelt Taed 0 Tg= o foTT T 1 &l Tomm ® fore TR @ =@
=nfeu?

(A) 64 Tho o ufd = (B) 84 feho o ufd =

(C) 48 fho o uf =T (D) 36 feho o Ufd =T
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137. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
137. Q5] VT 2RAIE SASHTS (PO *< (@ e 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
137. S BRCA(G ST (&R *[b (I ARG 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
137. AWM ST | {ogeTa 96l | 6 7

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
137. W S ez F-ar e wifm e A

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
138. Identify the correctly spelt word. 4

(A) Moderator ’ * (B) Moredator

(C) Modarator 3 (D) Moderetor
138. W& RS W6l DS 5

(A) Moderator R (B) Moredator

(C) Modarator (D) Moderetor
138. S IR X XS Feeel |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
138. TR 13 WErerd! ey

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
138. Gl T aTel ¥eg I TEEIT |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
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139.

Which of the following words cannot be made using the letters of MENDICANT?

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
139. MENDICANTS W42 <2 Fi4 FR1RO (PG > 515 S =it 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
139. MENDICANT-93 SRR JR2[ I ACA (T *[A15 9/ F1 IR 1 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
139. MENDICANT {4 EraI®rdl IerEH MR 9« Sieied! e[l g’
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT, "™
139. fEffiad § & FH-81 958 MENDICANT % 18R} ol 391, 0k Tt e S Gehl 27
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ‘ANCIENT
140. At the Youth Parliament, certain humbér of country representatives sit in a linear

140.

row and all are facing the audiende. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The*humber of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 B) 21

(C) 32 (D) 17

9Bl Iq WS (PRI (P Al fy (e J4 IR Gevl e AR | G¢ TR ST
(e WRAIF! NS 02 | G T ST O ¥ Fero e A2z | q=0g2AT /[ CieieE ved
TS @I 3R | (TN 05 qISTICE 2 e FIACl, IF (T A[NOGE QIS
G 01 ~[ $ON FTe Sz | O o’ SF (TR Meq O R4y q2Cqe
¢ RIS T (PR TR G0 I | Q0T I SR e [1q 24 (ie2 912 S | 39
RIS I e o afefafy 3f2 =z 2

(A) 19 (B) 21
(C) 32 (D) 17

SLRC-2024/P-111/ 1-E 86



140.

140.

140.

T AT, B A (e alfeffaml @ IMfice qeTcR gaR AR, WP JCN[R | A e
GEEIFRR I Mo I BCR | RS, GCEIFERE AT S T IO | S, A2
TR 5ol Bt IOTCR | MG, (TP 0 I IR <R (TN T 5 O 13
(A TOR | GBI 3R (TTNICHA MK (MO FR2] ARCHS GAR ACBRIR AT | SICHIE €33
FRITCR W0 Mg Q&G 0P AT | I AT G5 I ¢ 90T ACACR 2

(A) 19 (B) 21

(C) 32 (D) 17

T8 A TUCd HTE B OTR®Rl TRUTEREAR 9l SHE iR s e
o e rmfafs wnferet’ amfaeR foeeet | i ve et sfatafrer srgafeeme ) o e
ARG EIINEE sfoame fSTeet| FAreRn S SItafy TiSTeT Se S e |l
STETIER amfy ATfETe § | ue R ST ST e Siee B §, STedEd TR UE M
TSEE! THETSH! | 3T Al AR SIS T9E Teel’ smqﬁrr%malnﬁnéﬁmﬁm%qﬁné
ATEHA T fREAH 37

(A) 19 (B) 21

(C) 32 (D) 17

71 wae # Fo fifad gen § e % wfafifa ow @ eREd Sed § ot wft wfEt A ol ge
ek 9IS BIA © | TEITAT 3l 1% TR hadl 38 Ak S@.¢ [ fhsft, T =it a1 3R 37ed T |
B M, Sl % 3¢ ¥ =Y T W F| FATSTy ST ok Ik A AR 2T 8, IR ST UfRE
Sifad 2T BR A d TH W | GRIR 2R S o ofte 3w f1 we selh S e %
THM 3| S 3R FATET & i hacl, Bea 9od & | Fol Heimert foha 31 gar @6 § dad 87
(A) 19 A (B) 21

(C) 32 ' (D) 17

141.

141.

141.

Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank
(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
! e orfdest « PRrmIEt < fRwrer ST STy 2

(A) ﬁﬂlﬁ:W"T:ﬁ@ (B) I#TOR : [l : @F

(C) T : (&1 : Pl (D) 5% : (AR < AT

I sl ¢ « =ia - RreT-9 s 2

(A) 2qF : = : g6 (B) F[EOR : IEFIRT @ =

(C) oI : (314 : 32 (D) 5% : (TR : Al
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141. =d foor ofet : woE : wEEnfer St a9 ?

(A) TAS : ST : foregpe (B) HHER : Hia@ fil : s

(C) W : ferfi - forerma (D) & T : TARR : S
141. FH-41 faskeu Ufhet : B : Tk & qUH 87

(A) =&« @ fafene (B)W:aﬁwzaﬁﬁ

(C) oM : @ : Tohara (D) e : HMER : AHH

142. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31"

142. 3 REAR = 42, TEAR = 44 o[ DEAR = 28, (9(g RS @b @[ orez 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) ‘GEAR = 31

142. 3 REAR = 42, TEAR = 44 &3} DEAR =%28"8%, (3 I(6a (I $e (STl ?
(A) PEAR = 40 o “(B) FEAR = 32
(C) BEAR = 26 " (D) GEAR = 31

142. Jf¢ REAR = 42, TEAR = 44°%T0. DEAR = 28, 3fscll MMM sl ST 9 I N6 7

(A) PEAR = 40 R e (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
142. I REAR = 42, TEAR = 44 3R DEAR = 28, qi fi=fdfad & ¥ ®H-91 8 Toad ot 9
Sirer T 87
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

143. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE
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143. wfwy M 79 Ff< G Kpmch! ey v
7@ : SIS el ¢ 2
(A) S (B) fFerl
(C) o (D) =™
143. ¢ *Mb “[[0H &= TRl [R5
e : NS :: el @ 2
(A) =R (B)
(C) o (D) =’
143. SFT GEEE! g Al qereq e ae
qEH Y G ;7
(A) ST (B) forstr
(C) Tr7erg (D) T
143. AfqH g Fl 9 & fou gaH ey @i
ENI ST :: T 7
() s (8], e
(C) = ‘ (D)«
144. Identify the pair with the same relationship as Child : Vaccination.
(A) Fever : Medicine i . (B) Food : Cooking
(C) Plant : Pesticide (D) Animals : Food
144, firg W@NWW @HICH! e 54 |
(A) &9 : 87y (B) g : I
(C) Tfew : FioarI (D) &% : 4w
144, Fry : BFFa-99 001 GF2 0P o NS e |
(A) =9 : 87y (B) 1 :
(C) Tfew : Joams (D) 21 : 4w
144. 7o : fouER™ smfe dHmar T ST Ay
(A) AHSTHE : gfa (B) &R : T
(C) Sl : Tl frerman (D) S1< ¢ 3T€R
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144. =01 : SRR & U0 G I SIS sl Tg= shifoTg |
(A) J@I :&dr (B) @M1 : 9ebET
(C) e : TS (D) Y : oA

145. Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.
(A) lethal (B) fatal
(C) deadly (D) subtle
145. RIS (FFG! * 278 PO Q7 T 2
O H€ed TS GeeeE T97 (R |

(A) RIS (B) emerret
(C) RIS (D) 17
145. ‘e am SN o N[ AR @3 AP0Ce Mevd (FIR A0 ADFOIE A7 A/
T2
() ®STIF (B)wrefret
(C) TRIEF £ (D) 1H
145. Wﬁﬂé@ﬁmﬁﬁﬁﬁmmwfmamaw?
3 TRRET TUAE % S
(A) frgeama (lethal) 4 (B) ®iguE (fatal)
(C) PRI (deadly) .~ (D) 3t (subtle)

145. frefafad § & HH-9 w6g. 919 § T8 @1 § fbe 7@t 2mm?
fRW__ ¥ wEr @ =3t 6t Oid 2 T
(A) =T (B) STHetan
(C) W (D) Ha

146. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 B) 4,3,2,1
€ 4, 2,3, 1 (D) 4,3, 1, 2
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146. WS TG SO SEPI 27S =72d Ww SLEo! [ 2792

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
) 4,2, 3,1 D) 4, 3, 1, 2

146. 431 S 33cAS SISy SRl 2we @ T T J 2 ?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
< 4, 2,3, 1 D) 4, 3, 1, 2

146. ™ WD SUS A fogem amm smafed s wiiEn w1 S ?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3, 4 B) 4, 3,2, 1
€ 4,2,3,1 (D) 4,3, K, 2

146. WWW%WQWWWQWW#H?

1. Royal 2. Regal 3. Repal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
) 4, 2,3,1 ~ D) 4, 3,1, 2

147. Select the appropriate ’nﬂmber to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

147. 27, 30, 37, 50, ?, 98 XRYFID] Wa(S HGARE AR TR IR b 396 |
(A) 69 (B) 73
(C) 81 (D) 91

147. 27, 30, 37, 50, ?, 98 @ AP Bl @Ce T Rye ARl FHo e |
(A) 69 (B) 73
(C) 81 (D) 91
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147. ®IGE N9 TR ARSI AISHNE! 9 |
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

147. FHT &I GE &1 ¥ TR WA o foru 3fa gen @ = A
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

148. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said-about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height .
(C) Smita is the tallest of the three ‘

(D) Cannot be determined

148. “FAIQ Wk BT @A ©R (ifoecs &Y, 7 EAe(d ¢4 Ao’ Wi @ “Edg Ofe oo |
(SETETT Tl ToRe e GPles '3 /1 2

(A) R v et b

(B) WWWWW

(C) Farer SIS FICSIT €4

(D) Fefa R I

148. *[@dl Ficece (oifen (b == Jce Wik 3|, 78 e, @ 7@ 6@ o= ¢ §ie @ Awa

ST | OI TSl e SCEA (PG @ T 2

(A) °[E SR2 Ceied (50 4ol

(B) @1 @R (eife @2 ThHoR

(C) Fro fomerced ey AT

(D) Teyefme =1 T =1
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148. Tgsin MEE! Afdfigs S g am, U ugsifigg sifim Rearen agstft amemn Tem
BT THfeTt | forER Siergel A e ser 6 ¢

(A) ugsrn safafigs sEfEem
(B) ugsl 3T Safd=n wue Sh
(C) Toramn wramfs Tee shfe

(D) AT g
148. ugdl, Sfq & @t B 1 @ A 2, Al fGar, St aget & 6t 7, St ® R gt e 21
3Rt S ok aR ¥ frfeifad § & @ e ST Hehdr 27
(A) ugdt e w7 @ sfa @ 31 2
(B) gl 3 sfq Y «ieE a9 ®
(C) oar =t & w=@ @il B
(D) &= &l feram S gehat

149. At a college function, Romola i)ointed out to an actor and said, “He is my
mother-in-law’s only son’s nephéw?% How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter

(C) Niece N (D) Sister-in-law

149. ICICH GF SIS I3 98 Sferelte Tghriz 7, ‘(08 (F *2 2T GG T
e’ | T 0 SSCToreq Aeq 7TT= 5 279 2

(a) 1% (B) Sl
(C) eIfaret (D) T

149. 93 ICACHA SRRICH, T GG Sfeeo e BEre wea AceRce, Tl SR i
GFA (BCEE S | SSCTOR 1 I AN Frod F=(fFS 2

(A) (B) e
(C) =If (D) %
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149. O WEHIGHIH WY EETEREE W wEgRHe e gam, e enfa fergasita
e’ feeTents fomme | et fomrsit wete @1 dme S
(A) fermma (B) et
(C) formme (D) forrT

149. T Hhicisl GURIE §, VAT 4 Ueh AT 6l AR TN A §C Fal, 98 W T4 % Thaild o2
oiet 27| e it |t 1 AT § T dEy 27
(A) ==t (B) &
(C) WSt (D) &

150. Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentfic system
(C) Rocket (D) Radioactivity
150. ORI “MChl ~[9 FICs1 TS [Reich! fofioe 59 -
qepreeel - oo o2 2 : SRR g
(A) TS ALEER (B) W IB5RR

(C) T . D) couETe

150. SO~ ~[eed &n O Rewfs ey
RO« oM 9 (IR

(A) TS ABER S (B) AT ©oF
(C) AT \ (D) (TSl

150. I AREE! 379 Qe dEE b 9
WW:%::?:W
(A) & TREREE™ (B) efasraf=s @it
(C) The (D) et Tmnfy
150. T 98 &l W o fofg daraw foered @iV -
W&w:wgq::?:ﬁqrﬁw
(A) T qRE=RT (B) GI-hiseh omreft
(C) Tehe (D) Yeafifar
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